Homework 21.

71 f(z) =1/24 300 aq €1/
7.12 Done in lectures.
713 ap =cn+copn, by = (cn — c—n)/t, ¢n = an/2 + b, /20, ¢y, = an/2 — by /2t (n > 0), o = ag/2.
8.11
() F(z) = n2/3+ 435, (~1)" cos(na) /n?
(b) f(z) =4n?/3+2%, = —oco,n # 0°e"*(1/n? + im/n)
9.1
(a) cos(x) + isin(zx)
(b) xsinh(z) + x cosh(z).
9.6 Odd. f(z) = (4/7)(sin(rz/1) + sin(37z/1)/3 + sin(5rx /1) /54 - - -).
9.9 Even. f(x) =1/12 — (1/7%)(cos(2rx)/1? — cos(4nz)/2? + cos(3mz) /3% — - - ).
11.5 72/8
11.6 7*/90
11.10 Calculate the average value of f(z)g(x) using the fact that cos(nz) (n > 0) and sin(nz) (n > 0) are
pairwise orthogonal.
12.8 (a) 1/2 (b) 1
12.14
(a) f(z)=1/3+ 372 4dcos(nmz)/m*n?
(b) 7*/90.



